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Bob  : Japanese people work so long and until so late at night
that Japanese workers are said to be 'workaholics.’

Michio : But recently young people are not 'Workaholics.'

Satoko : Right. Young people tend to put their family ahead of
their jobs.

Bob : Oh, 1 see. Yes, | remember an article on Japan. The
article said, "The number of young people who make
their living through part-time jobs only is increasing
in Japan."

Michio : That's right. We call them freeter.” 1 guess young
people feel constrained by the slric{.rhi.é.rarchy in
Japanese organizations. However, Japanese society 18
rapidly aging. I hope young people will work hard to
support the older generation.

Satoko : 1 agree.
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N fhExo585h. # E : president

4t & : vice-president

# & : general manager

2 £ : manager / section
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